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1) 12x—y=-8
A) y=12x+38
B) y=8x+12
C) y=-3x+12
D) y=3x+12

3) x+y=8
A) y=8x-1
C) y=—x+38

5) 14x+3y=-24
14

A) y=—x-8
) V=73
14
B) y=—>7Xx-8
) y=-73
C) y=—8x+E
3
D) y:8x+E
3
7) 5x—12y=6
1 5
A y=——X——
)Y 2 12
5 1
B) y=—Xx-—
) 12 2
1 5
C) y=—X+—
) 2 12
D)y=——5—X—l

Meno:

LINEARNA FUNKCIA - A

Zapis rovnicu linearnej funkcie v tvare y=ax+hb:
2) X—4y=16
A) —lx—4 B) ——4x+l
Y=y y= 4
1 1 1
C) y=4x+— D) y=—X+—
)y 1 )y >+
4) 3x+2y=6
B) y=-8x-1 3 5
D) y=x+8 A) y_2x+3 B) y= 2x+3
C) y—§x+3 D) y——ix+3
2 2
6) 11x-3y=-9
A) y:—%x+£
3
1
B) y=3x+—
C) y=—Xx+3
2 11
D) y=—X+—
) y=3x+3
8) x+y=10
A) y=5x+10 B) y=-x+10
C) y=-3x+5 D) y=10x+5
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VYSLEDKY - LINEARNA FUNKCIA - A

2) A 3) C 4) D
6) C 7) B 8



